ECES544: Fault-Tolerant Computing & Reliability Engineering
(Fall 2022)
Homework #5 Solution
(85 points)

Problem 1: a) 10 points b) 5 points, ¢) 5 points d) 15 points
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Problem 2: a) 10 points b) 5 points, ¢) 5 points d) 15 points e) 15 points
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d) Solution using the SDP method based on cutsets generated in part c)
(Alternative methods: cutset using I/E, pathset using SDP, pathset using I/E)
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e) Solution using the SDP method based on cutsets generated in part c)
(Alternative methods: cutset using I/E, pathset using SDP, pathset using I/E)
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